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ก��!FกG�����=HI9 H ����<ก��="�J��K��L�M��ก�����9��������กL�����< SMEs ก��;!FกG� ���<

���9�L�9�Q�ก�� �."����
�  HRS���T��8�9�L<��9���	;JM��<�9 �L=�U�H����	��:�"  HRS��M9=�TJ�<��<�L�
�Q���<��กG� ��
 �LกL�M��=ก����
 �� "9�ก<�9	Q�<�9 �L=�U�H����	��:�" �L�M���L�
���9>�<<�9�K< ก����

��9���>��ก�����ก���L�9M�SL ��=HI9M9�KH>����<���8����	;J�K��L� �L�K<��ก9�ก  >�� �L��������ก��ก��
��������<ก����<�Kก���	�กก��L� =HI9V�=9TJ�<����ก:���=!�GWก��M9HR�����9 	;J�ก�JQ��< >��ก����ก��	Q�
������
��<��<VK�����L<��9��������กL�����<��
M�SLM9���=�T�<=HI9V�	Q�M��
����
��9������JQ��<�
L�<
�L�=9TJ�< ��ก��ก����ก	�
��
� 

1. ก����	
���
������������	��������
�������� ! 

�����������������������ก���ก��� !"#���$
 2 ������&'� ก��"#���!ก���$�����%& �
'(�)������ 
)
�&���)���ก������$ก&����()���ก�� &��ก��)������*��
��+�+��ก �����*� ����#����������ก�����
,(���ก
��-� 229,170 ���)
� 3 ��+ ก��"#��	!����#���%&��' � 4�ก���
,(��$�&
� (Value added) ��กก����(���#�
��
�,�&�����$ ����=)>?�,� ก�����+���� ��'(�� ��@�
� � 4� ��� &��ก��) �
���&��ก��) �+����#�������$�&
�
��ก��,������ก�,(���-� ��+�=�� 4�ก���
,(�&����$� &��������>�#�ก=�
�=ก��� 
�����=-��=�� 4�ก���
,(�������
�#�ก=�
�=ก����
,(���ก��-���ก���#��(� ����#����������ก�����
,(���ก��-� 81,193 ���)
� 3  

2. ��)
���*!�"���!ก���+�*����!�����%�'�,�	"-	.�� 
�����������������������ก���ก��� !"#���
 3 ������&'� ก�������*��&���& ��'(���ก�� �=��&�������
��&Cก��#�
 �#�'��
��� 5 &� ���ก��&=���'�ก�E
�+&���(��&�����=� ก�+)'��'���� ��+)=-�����ก��������
������ ��'(�&=���'�ก�)
&���(��&?F@�
ก*�+)�����ก�� �
,(�&
�)������
'(�� 4�����=��#�ก=�&���)=-���������
�=-�����
��&
�����
,(���-���ก 150 ���)
��=� � 4� 180 ���)
��=� ����#�&
��G��
�����
����������� �#�'�
�
��� 324,000 ���)
� 3  �+#�=�� ��� 90,000 ���)
� 3 
�����=-�
�=ก���ก*���&
������
,(���-� ��ก��,� 
54,000 ���)
� 3 � 4� 73,800  ���)
� 3 �
,(���-� 19,800 ���)
� 3 ก���	��� ����!�!�� 3 ��! �
'(�G
��
�?
���� ��+��ก���G�������&� ����#�
�=ก�����
)���������#�=ก��ก G
���� !"#���'(��ก�������*����

�=ก��� ���?�),�)=-� 150,000 ��� �+�+����&'��?� 1  3 8 ��'�� *
, ก���+���
�����$
	��	!���
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�#���%&��' ��
�
��+� 4���� $� ��+�
���&��ก��) �+� 4�ก�����������$������
�=ก��� �
��+��������
�
,(���-� ��&����$���'(��ก�����&��ก��)�����*��$ ��ก��-� �����>�������� ������������
,(���-������&)  
�&��&���2 : ��9	�9, �������KS=�;
, H����	��:�", ,�K��L�="�J� 

1. �
�&� 
 =HI9���ก���������� =��J���X<>�LHY 2537 ��
=��J���9��กก����
��<=�U�=��U� �9V�9���=�<��	Q����ก��
���=���กL�����<�F< ��=�U<=�U9�L� ���ก��ก������Q��9L�
��Hก���กL�����<=HI9���ก��	;J9L��9M� ="���M9���9�X9
 �L�;M��	Q����ก��9;X �9��8F<HR�����99;X�Q�=9�9ก��ก����>���ก�L� 15 HY ���
�K��L�
����
ก�L� 10 ���9��	/HY 
>���;"9�ก<�9 10 �9  ����
M�����ก�� ����L<��9����98F<�T��Kก��� �L�9>�L<ก������ =9TJ�<��กHR�����99;X 
��ก. �."����
� �;�L�9>�L<ก��������<��Hก���กL�����<=HI9 60 % ��<�K��L��������	�X<��� >���;
��
 ����ก���ก���Q��9L�
��Hก���กL�����< M9HY 2552 
����
�
KL	;JH����� 8,000,000 ��	 >��>�L<=HI9
V���:����="TJ�M��=HI9�<��H��ก����<��9ก�;�=�L9 HK9\;=�9�� 	��
 ��9 \FJ<�;����L�9H����� 60% ��<

����
	�X<��� \FJ<���=HI9�K��L�H����� 4,800,000 ��	/HY ����L����ก����9ก�;�V��=��U����;�L�9>�L<
ก�������� �� 40% ��<
����
V���:��� �;�K��L�H����� 1,920,000 ��	 /HY \FJ<�
KLM9������ก���
กL�����< =ก;J
����<ก��<�9กL�����< <�9�L�=������9 <�9�ก>�L<���9 ���ก��	�X<<�9กL�����<899��9ก�;� 
=����=��Uก�����KL���9 >����>�กMก��=�;
< � HR����99;X=HI9ก��>�L<��9	;J��=�T�� =9TJ�<��ก�;ก��="�J��FX9
��<VK�H��ก��ก����������กL�����<M9��>�ก9�X9 (��!�;H����� 15 ก���=���) ��ก	;J=�TJ�กL�9�;=";
< 2 ��
 >�L
HR�����9�;="�J��FX9=HI9 5 ��
 ���	�X<
�<�;ก��=�����	Q�������<��<"�ก"L������
�L<M9�����<���� �F<	Q�M��
ก��>�L<��9��=�T����ก
�J<�FX9 ��<>��<M9�KH	;J 1.1 >��<�L�9>�L<ก������ 	�X< 5 ��
 

 
��4
$� 1.1 �L�9>�L<ก������ 

 =9TJ�<��ก�:�"=!�GWก�� �L�; =HI9V�	Q�M��
����
������<��<�KH	;J 1.2 HRS���T��;�8	;J �L ��M��M��
=�U�H����	��:�"��ก9�ก \FJ<�L�9M�SL������
KLก��	;J =ก��HRS��M9=�TJ�<��<�L��Q���<��กG�	;J���<	Q�ก��\L��
�Q���<	�ก=�T�9=ก��=HI9�L�M���L�
	;J �LกL�M��=ก����
 �� ���	�X<�9����8�;=	;J
�����89��
�< 	Q�<�9 �L=�U�
H����	��:�" "9�ก<�9�L<��<=�TJ� �L�;<�9M���L<กU���ก��L�9�J<=�L9ก�9 �������ก���T��T���9M9ก��	Q�<�9>��
VK�H��ก��ก�����9��������กL�����< SME_s ��
��9���	;J=HI9 ���8���� =	L�9�X9 \FJ<�;�K��L�9��
 >�� �L��������
ก���Kก���	�กก��L�  
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��4
$� 1.2 >��<
��ก����
���< 

2. 
5�6$��7	��#ก���
$��ก$�)	8��� 
 ����� ��9	��!�; , (2539) 	Q�ก��!FกG�H������������<ก����9ก�;�M9����="�J���ก�FX9 �F<	Q�M��
��<<�9V�����9ก�;�V��=��U����<	Q�<�9�9�ก�FX9=HI9V�M����<<�9=ก��ก���Fก��� >���
��	Q�ก��V���="TJ�
	Q�ก��\L��="�J��FX9����:�"ก��M��<�9	Q�M���KS=�;
��ก��M9ก��ก��V���� ��<9�X9 ="TJ�M����<<�9�;����
"����M9ก��M��<�9="�J��FX9>��M��=���M9ก��\L����9��
�<�F< ��9Q����กก�����;ก��H���H��<��กG�=��<H̀�<ก�9
="TJ�M����<<�9=ก������=�;
��
9��
	;J��� \FJ<���L<V�M����<<�9�;����"����M9ก��V����K<�FX9>��=�;

�L�M���L�
M9ก��\L���L�
��V�����9��
�<     V�ก������
"��L� ���;ก����<ก�L�� 	Q�M�������8����9	�9M9
ก��\L���Q���<��ก=��� \FJ<���<M��=<�9 9.14 ��	 �L��Kก��!ก�=��� HR�����9=��T�=";
< 7.31 ��	 �L��Kก��!ก�
=��� ���< 1.83 ��	 �L��Kก��!ก�=���	;J�����9�
�Q���S 0.05 ���=HI9=H���=\U9��	;J���<��<�L�M���L�

=	L�ก�� 20u0E2B�T�=HI9=<�9 204,688 ��	 / HY �L���<<�9 \FJ<8����ก���<ก��H���
��=<�9�����G�	M��
��กก�L�9;X �����8	Q� ����
9Q����;ก����<ก�L�� HM��ก����<<�9�TJ9 �L� H9�ก��ก9;X =�TJ�"�������L�=b�;J
��<
��
��L�<��<=���M9ก��=�;
��<��<<�9>�L�����X< ( MTBF ) "��L���ก=�����<<�9�;�L� MBTF =	L�ก�� 
173.53 ��J���< >�L���<��กก��H���H��<�;�L� MTBF =HI9 177 ��J���< ="�J��FX9��ก=��� 3.47 ��J���< 	;J�����
9�
�Q���S 0.05 �Q�������
�=���=b�;J
	;JM��M9ก��\L�����<<�9>�L�����X< ( MTTR ) กL�9ก��H���H��<<�9�;�L�
=	L�ก�� 3.86 ��J���< >�L���<ก��H���H��<�;�L����<=��T� 4.91 ��J���<	Q�M������
�=���M9ก��\L���< �� 
3.95 ��J���<�L����X<	;J�����9�
�Q���S 0.05  
   =ก;
���"<G� �����!��Hf9 , (2542) 	Q�ก��!FกG������HK"TX9Hf�	��H��=:	 ��H�=ก���;>9��9��ก��
9Q�=�����9�����ก�FX9H��ก��ก�����8����	;JM����ก��������	;J9Q���V���9��
�< �F<�;�����9M�M9ก��!FกG�
����=HI9 H �� M9ก�������X<��<<�9V���>VL9"TX9Hf�V���Q�=�U��KH��ก>VL9M
 ����������9�>9L9�K<�FX9
:�
M9H��=	! >�� ��"��L�>VL9"TX9Hf�V���Q�=�U��KH��ก>VL9M
 ����������9�>9L9�K<�����89Q���M��
	�>	9�����HK"TX9Hf�	��H��=:	 ����ก�������� ก��L� ��H�=ก��  ��=HI9�
L�<�;��
�;กQ���<ก��V���H����� 
2.4 ���9����<=����L�HY 	Q�=�	;J��X<��<��<<�9�
KL	;J�Q������!;� �Q�=:���<H�ก< ��<����b�=��<=	�� ="���
�;����=�������L�HR���
ก��=�T�ก	Q�=�	;J��X<��<<�9 ก����<V�<��<<�9�����<=HI9>������9����<
V���:���� ก���<	�9��<���<ก��M��=<�9�<	�9	�X<��X9 217,959,468 ��	 =HI9=<�9�<	�9��<VK�8T����9 
127,959,468 ��	>��=<�9กK���
�
�� 90,000,000 ��	 ������
	;J=��������ก��<<�9กQ��9� �� 300 ��	 
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�L����<=��� ก����=���������9ก��=<�9"��L����<ก�������8�T9	�9M9��
�=�����X9 >��M��V����==	9ก��
�<	�9M9������K<��
���H ����<9;X ��
�=����T9	�9 23 =�T�9 �����V����==	9ก���<	�9	�X<��X9���
�� 69.82 
>�������V����>	9ก���<	�9��<VK�8T����9 ���
�� 103.58 

 H�����;
� �9ก�S�9� >�� ก�S�9� ก�S�9��9	� , (2551) 	Q�ก��!FกG�=�TJ�<������ก���V���
HK9\;=�9��>����9ก�;�8T�=HI9������ก����
L�<�9FJ<��<H��=	! 	
 ก�����ก�������\L��H	�9	;J�;��
�L<V�M��������ก���9;X�����8=�����>��>�L<��9M9������ก ก��!FกG�����
9;X=HI9ก��!FกG�HRS��ก��
���ก��M9�����\L��H	�9��<������ก���V�����9ก�;�ก��;!FกG����G�	 ";=�U9	;��9ก�;� �Q�ก�� ��
�;
���8�H���<��="TJ�!FกG�>����=������HRS��	;J=ก���FX9M9�����\L��H	�9��<�����ก�����9ก�;� "����	�X<
9Q�=�9�>9�	�<M9>ก� �HRS�� ��กก����=������ก����9ก��M9�\L��H	�9��<���G�	ก��;!FกG� "��L�
HRS��	;J=ก���FX9 ��>กL ก���L<�����9���M��>กL�Kก��� �L��<���=���	;JกQ��9� =9TJ�<��ก�8�9�L< �L=";
<"�M9
ก������L< ��<��=�U9 ����ก����K�����ก�����<=�;
9=�TJ�<ก������L<�9���	;JH��กgM9��� CRM ��<�<��ก� 
��<9�X9�F< ��9Q�=�9�>9�	�<ก��>ก� �HRS�������L����M9ก������L< ���
ก��H��
�ก��M��	iGg;ก��������
���:�"���
��g��ก�=�����J< (PDAC) ���
���;ก��=�9�M����<>V9=��9	�<="TJ��������<=��9�8�9�L< >��ก��
�Q�9����
�=���	;JM��M9ก���9�L<M9>�L��=	;J
���ก>9�	�<ก��>ก� �HRS��	;J=ก���FX9ก��ก��;!FกG���<ก�L�� 
=�TJ�	Q�ก����=������V�����L��� �������กก��9Q�>9�	�<ก����<>V9ก���������=��9�8�9�L< HM�� "��L�
�����8>ก� �HRS���8�9�L< �L=";
<"� �� >�������8��HRS�����9��9	�9 ��9=ก����ก����=�;
��
��ก
ก������L<��9ก�;��L���� >�� ��	Q�ก������
="TJ��������"F<"�M���<�Kก��� ="TJ�9Q���M��M9ก��H���H��<>�="�J�
H����	��:�"����9�<�������<ก����<�Kก��M�� ���
L�<>	����< 

2 	�+$ก����ก�� 
 VK�����
 ��	Q�ก����=����������K�=ก;J
�ก��ก��!FกG�>9�	�<��
ก��	Q�ก��!FกG�=HI9 3 �L�9 ��<9;X 

��	�
$� 1 ก���
���������8��	�09��������$���������8�:� 

 2.1 ก��"#���!ก���$�����%& 

 ��กก��!FกG�"��L�ก��V����9ก�;����
�T�9�X9	Q�M�����:�"��<��9ก�;� �L ������L�����W�9 
�L�9ก��V����9ก�;����
�T�9�X9 ���;����
�L<
�กM9�L�9��<ก��=��;
��L�9V���L�<m >����กM�� �L���
���8����กU��=��T�	�X< ��T���ก �L"�กU���<��J<��V��M��L	Q�M����X9=H�T�<=�TJ�<�L��9�L< �;ก	�X<�;ก����X9=H�T�<M9
�L�9��<>�<<�9 ="������<M���98F< 4-5 �9M9ก��V����9ก�;�>��=	��9ก�;� ��
M��=���H����� 1 
��J���< �L���9ก�;� 1 �Kก��!ก�=���  �L�����8	;J���������L�M���L�
 �� �L�9ก�����\TX���ก���>	9�Q��9L�
 
(Outsource) ="TJ�9Q�����
�L�9�X9 ��=�U9�L� ��กQ� ��L�9�L�<9��
��ก >��
�<�;���=�;
M9=�TJ�<��<ก������ 
="������>	9�Q��9L�
=�TJ��K��L��Kก���=HI9M��กU����ก��	Q�����=�<
�ก	;J����������<	;J>��<M9����<	;J 2.1 
>�� ����<	;J 2.2 

 

 

0����
$� 2.1 =H�;
�=	;
���9	�9ก��V�����9ก�;� (�L�����>�U<>�< 240 ksc.) 
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���ก�$0;�����<% ���ก�$0;���=� Outsourcing

%&��	����� (��
) %&��	����� (��
) %&��	����� (��
)

HK9\�=�9�� 780 780

	��
�
�� 210 210

��9
L�
 3,4 715 715

9XQ� 30 30 2,250

9XQ�
�V����9ก�;� 100 100

�L��9�L< 100 -

��� 1,935 1,835

������
 2,250

��)ก��

 

����<	;J 2.2 =H�;
�=	;
���9	�9ก��M��>�<<�9=	>��V����9ก�;� �L� 1 �Kก��!ก�=��� 

��)ก�� ���ก�$0;�����<% ���ก�$0;���=� Outsourcing

�Q�9�9>�<<�9 5 3 3

��J���<>�<<�9 1 ��. 0.5 ��. 0.5 ��.

�L�>�< (��	) 250 150 150

���
=��� : �L�>�<H����� 50  ��	 �L���J���<
 

��ก����<	;J 2.1 >�� 2.2 ���	;J��	Q�ก������Q��9L�
��9ก�;�V��=��U�=�< ="�����	Q�M���;ก��

����<�K��L���<���8���� (Value added) 	Q�M���;กQ� �="�J���ก�FX9 =HI9ก������<<�9 >��M�������K�ก��"9�ก<�9

="�J���ก�FX9 M9�L�9��<�Kก���กU�� �����ก�����ก��	;J������9 ����ก���=�U� =���M9ก��V��"����=	�9>���

=��U� H����� 30 9�	; �L� 1 �Kก��!ก�=��� H���
��M9�L�9��<>�<<<�9 ="���M���9=";
< 2-3 �9กU

�����8	;J��	Q�<�9 �� �L�9���:�"��<��9ก�;�กU=HI9 H���	;J ����ก>�� �� (Mix Design) ="����;ก����J<

9XQ��9�ก��<���8����	�ก�9��กL�9	;J��	Q�ก��V����9ก�;� 	�X<
�<�����8������=���M9ก������<���9 �� 

��ก9�X9M��	Q�ก��=H�;
�=	;
�<�H�����ก���<	�9��<�8V����9ก�;�����L�<ก��H���H��<�8	;J�;�
K=���ก�� 

ก�����\TX��8�T���< ��<����<	;J 2.3 

����<	;J 2.3 >��<M9�L�9��<ก���<	�9	Q��8��9ก�;�V��=��U� \FJ<ก�����\TX��8�T���< �:�"�8

H����� 8-10 HY 9�X9�;�L�M���L�
H����� 650,000 ��	 �������	�9 ���
KL	;J 3 HY 11 =�T�9 ��=HI9ก��="�J�

��9	��"
�=�������
 �L�Q�=HI9="���HR�����99;X�8	;J�;�
KLกUM�� �L=�U�H����	��:�" ="���b9�X9�F<���	;J��	Q�ก��

�<	�9M9ก�����>H�< �8V����9ก�;� ="����;�L�M���L�
	;J8Kกก�L� H����� 350,000 ��	 >���������	�9��

��X9ก�L� �
KL	;J 2 HY 11 =�T�9 \FJ<���L�
��HRS��ก��M���8 �L=�U�H����	��:�" >��M��V����>	9	;J�����L�	;J��� 

0����
$� 2.3 =H�;
�=	;
���9	�9ก��	Q��8��9ก�;�V��=��U� 
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��)ก�� ����4���9����	;J�;�
KL N=:��9;�����ก�$0�=� 2

���� 430,000 690,000

�L�M���L�
�Q�9�ก<�9 69,050 69,050

�L�M���L�
V�9>H� 123,600 123,600

�L����8���� 835,680 835,680

����L�M���L�
��
HY 1,458,330 1,718,330

��
�=����T9	�9 2 4O 11 ��=�� 3 4O 11 ��=��

H�����ก����
����
 40% ��<
����
��Hก���กL�����<
 

         2.2 +��ก�%ก��
&�;��0P�#Q*���ก�$0�&���<%��4  

        ��กก��	Q�ก���Q�������� >��!FกG���ก�������<ก����<�Kก���M9"TX9	;J"��L���
�L�9M�SLH����� 

90 % ��<VK�	;JกL�����<���9=�<��M��=����9ก�;��Q�=�U��KH 	�X<�9�� 4 9�X� >�� 6 9�X� �L�9�L�=ก��� ��M��=HI9

�L��<��9ก�;���<\��9ก�9��
M�� 4-5 �<>��M����9ก�;�b��V��H̀�<ก�9ก����J�\F� ��
Hก��>��� =�TJ��Kก����;

ก����J<\TX�	�<���9 ����J< H
�<���>	9 (Supplier) ="TJ�M��9Q���9������L<	;J���9 >����ก9�X9กU���L<�L� H
�<

�Kก����;ก���X< 	�<���9�F<=�U<=�U9�L�<	�<M9ก��	Q����ก����9ก�;��Q�=�U��KH =9TJ�<��ก��9	�9ก������L<��ก 

VK�V��� ��
�<���9>����ก���9����L< H
�<�Kก���9;X=HI9��9	�9	;J �LกL�M��=ก��H���
�9� ��ก	�<���9=HI9VK�V���=�<

กU�������8	;J������9	�9�< ��=HI9�
L�<��ก ��<����<	;J 2.4 

0���� 2. 4 =H�;
�=	;
���
 ����<ก���Q��9L�
V���:������9ก�;��Q�=�U��KH 

��)ก�� Supplier ;��0��� )��8�)/4O ก&�W�/4O ก&�W��
���/4O

=���9�� 4 9�X� 100 94.08 1,500 30,000 38,880

=���9�� 6 9�X� 360 343.67 500 20,00 28,165

�L��<��9ก�;� 85 76.42 600 9,000 14,148
 

        ��ก����<	;J 2.4 ��=�U9 ���L�กQ� �	;J="�J��FX9=HI9�Q�9�9	;J �L��ก9�ก \FJ<=�TJ�=H�;
�=	;
�����; ���=�;
 

>���9�X9 กQ� �	;J ��="�J��FX9��9�X9 �L�����L���ก9�ก \FJ<��ก���<ก��	;J��M�� ��V����>	9	;J�����L� �����<�� 

Demand ="�J��FX9="TJ�	;J�� ���;��
 ����กก����
V���:������9ก�;��Q�=�U��KH="�J���ก�FX9���
 >�L����;��<

ก��	Q�V���:������9ก�;��Q�=�U��KH9;X�T� =HI9ก������<<�9 >��=HI9ก��="�J���
 ��M��ก��"9�ก<�9 ="�J�	�กG�

�����K����������8M9���9ก��=HI9�L�<=	=����9ก�;� M��ก��"9�ก<�9="TJ�	;J��M��M9ก��9Q� HH��ก�����;"

 ��M9�9��� ���	�X<=HI9ก������<>�<�K<M�M��ก��"9�ก<�9�;ก	�<�9FJ< 	Q�M��"9�ก<�9�;��
 ��	;J="�J��FX9 ��
�;

ก��M��V����>	9\FJ<�FX9�
KLก���Q�9�9	;J	Q�ก��V��� �� ��HRS��ก��M��>�<<�9 �L=�U�H����	��:�"�< �� 

=9TJ�<��ก=�TJ��L�<��กก���L<��<กU��	Q�ก��=	=�� >���L��<��9ก�;� H���
 

��	�
$� 2 ��	
��ก���(�����������0<�4�7��
+�P�
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 2.2.1 �4�$)��
$)�ก���(������� 

����<	;J 2.5 �L�>�<<�9 ��
=�T�9กL�9	Q�ก��H���H��<             ����<	;J 2.6 �L�>�<<�9 ��
=�T�9���<	Q�ก��H���H��< 

�&����
$� ��=�� %&��	�������

$��(� (��)

������ (��
) �&����
$� ��=�� %&��	�������
$�
�(� (��)

������ (��
)

1 �ก���� 12 54,000 1 �ก���� 5 27,000

2 ก��:�"�9�� 12 54,000 2 ก��:�"�9�� 5 27,000

3 �;9��� 12 54,000 3 �;9��� 5 27,000

4 =�G�
9 12 54,000 4 =�G�
9 5 27,000

5 "iG:��� 4 18,000 5 "iG:��� 5 27,000

6 ��8�9�
9 4 18,000 6 ��8�9�
9 5 27,000

7 ก�กg��� 4 18,000 7 ก�กg��� 5 27,000

8 ��<���� 4 18,000 8 ��<���� 5 27,000

9 ก�9
�
9 4 18,000 9 ก�9
�
9 5 27,000

10 ������ 4 18,000 10 ������ 5 27,000

11 "iG��ก�
9 10 45,000 11 "iG��ก�
9 5 27,000

12 ��9���� 10 45,000 12 ��9���� 5 27,000

414,000 324,000

�L�>�< 150 ��	 �L� ��9 �L�>�< 180 ��	 �L� 
��9

�	�

���)��0�

�	�

���)��0�

 

 ��ก����<	;J 2.5 "��L��Q�9�9ก��M��>�<<�9�� �L�<	;J�FX9�
KLก��i�Kก�� ="����L�M9"TX9	;J9�X9 ���;

ก��\TX���9���M9�L�<กL�9 >�����<i�Kก��	Q�9� M9�L�<����L�<ก��	Q�9��9	;J����<���9=�<��  �L	Q�ก��

กL�����<���9M9�L�<9;X =9TJ�<��ก���< H	Q�9� >��	;J�Q���S>�<<�9กL�����<M9�L�<9;X���� ��
�ก��ก >�L	;J���<�;

ก�����<<�9M9�L�<9;X =9TJ�<����กVK����=��� ��
M�SL >����

L�
9�X9 
�<�;ก��กL�����<ก�9�
KL ="������<=�L<

<�9M��=��U�	�9�����SS�<�9 �T��L�<H�����=�T�9"iG��ก�
9 8F<=�T�9��9����กU��	Q�ก����
����=H�T�ก 

"� ��=<�9�� กU���;����"����	;J��\TX���9��� ��M9�L�<9;X ��ก9�X9กU��=HI9�L�<	;J��
��9��� ���
L�<�L�=9TJ�<  H

�98F<=�T�9=�G�
9 M9�L�<9;X�����<�;ก��M��>�<<�9=HI9�Q�9�9��ก ="TJ�	;J������9�<���>�U<��<	�<���9	;J

=9�9=�TJ�<ก�����ก������L<��9���	;J���=�U� �F<=HI9��=���M����<�L�<	;J �L�;��9���M9ก������L< =ก��ก���L�<<�9 

"9�ก<<�9=ก��ก��=�L9 �
�ก���ก�9 =�TJ��;<�9=�����กU=ก;J
<ก�9 =HI9HRS��	;J���<�;ก��>ก� ��
L�<=�L<�L�9 

="TJ�M��ก��M��>�<<�9�;H����	��:�"�K<��� �F< ���;ก��������<����<���9>�<<�9M��L ��ก����<	;J 2.6 "��L�

�����8	;J��H���
���L�>�<<�9 �� 90,000 ��	�L�HY >�L=9TJ�<��ก=�TJ����9<�9�<<�9กU���9�ก�FX9 �;<����;

ก������<>�<�K<M���
ก��="�J���
 �� ��<9�X9�F<�;ก������<>�<�K<M�="TJ�M��"9�ก<�9	Q�<�9 ���
L�<=�U�

���������8 ��
ก��M��V����>	9="�J��FX9 ��ก��9�� 150 ��	 =HI9��9�� 180 ��	   "����ก�99�X9="TJ�

H̀�<ก�9ก��	Q�<�9	;J �L=�U����������8 =�TJ�"9�ก<�9�L�<=��9 ��กก���L<��9���>��������< H	Q�ก��=	=�� 

>���L��<��9ก�;� ��
M9�L�99;X������L����>	9M���������<ก��V�<�9	;J	Q� ����<����<	;J 2.4 

2.2.2 �4�$)��
$)���4�7��#ก����
��ก��0��0�:����� 8��� 3 0���
=��
������ 
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 ��ก����<	;J 2.7 ��=�U9 ���L�ก�������X<=��9�����8H���
���L�>�<<�9 ��8F<HY�� 90,000 ��	 \FJ<

=�TJ�=	;
�ก��=<�9�<	�9M9ก�������X< 250,000 ��	 ��
�=���=";
<>�L 3 HYกU�����8�T9	�9 >�LV�	;J �����

�����L� =�TJ�=	;
�ก��=�����กก������L<	;J���=�U��FX9 "9�ก<�9 �L���<
ก��<�9�ก ����9�<ก��	;J	�<���9	Q�

V���:����=����9ก�;��Q�=�U��KH  

����<	;J 2.7 �L�M���L�
M9ก�������X<=��9�9�� 3 ��9 

�&����
$� ��)ก�� �4X����� (��
)

1 �L������X<=��9�T���< 250,000

2 H���
���L�>�<<�9/HY 90,000

3 ��
�=����T9	�9 (250,000/90,000)   4�7��# 3 4O
 

 

��	�
$� 3 ก��0��������ก���W���)���
��9�	�
$ 

2.3.1 =H�;
�=	;
���
�=���ก������L<��9��� กL�9 v ���< 
��ก=���=�
�L<��9�����
M��=���	;J �L>9L9�9 �FX9�
KLก���:�"899 ���ก >��\�
	;J������L<���	�X<����

"������<���"9�ก<�9�L<��<=�< \FJ<	;Jก�L����	�X<��� 	�<���9�����8	;J�����������ก��=��� ���
L�<�;

H����	��:�" 	Q�M��M9��<���X< �Kก���=ก������ �L"F<"�M� ="�����<<�9	;J����L< ������;ก������L<������9 

=HI9=���M���Kก���	Q�<�9=��U� �L	�9กQ��9�  	Q�M���Kก�����9 H\TX���ก���9�TJ9 	;J�����8����9�<����

���<ก�� �����=�U�ก�L�>9�	�<M9ก��	;J��>ก� �HRS��9;X �;�
KL 3 >9�	�< 

- ก���FX9�L����<M��ก��"9�ก<�9 ��ก��9�� 150 ��	 =HI9 180 ��	 �L���9 
- M����9�
��ก��"9�ก<�9	Q�<�9 6 ��9 �L� ��H���� �
��"�ก 1 ��9 �L� ��H���� 
- ก��M��=�;X
�
�9="�J���ก"9�ก<�9	Q�<�9�����
 �L��� �� ����
 =�T�9�� 300 ��	 
- �����=��TJ�<	�L9>�<="TJ��L�
M9ก������L<��9���	;J�;9XQ��9�ก��ก 
- M���L����<���V�<�9	;J	Q� �� 
- ก�����������ก��>�<<�9�
L�<�;H����	��:�"���L<V�M��=HI9 H������8�H���<����<�<��ก� �T�

ก������9�<�Kก����
L�<	�98L�<	; ="TJ�M���������<ก��9�
��
���9ก�����ก��  
 
3.   ��	
��ก���ก�W84Y2�� 
        ก��!FกG�����=HI9 H ����<ก��="�J��K��L�M��ก�����9��������กL�����< SMEs ก��;!FกG� ���<���9�L�9

�Q�ก�� �."����
� ="TJ�>ก�HRS��
����
���	;J���<  HRS��ก��M���8 �L=�U�H����	��:�" HRS��M9=�TJ�<��<

�L��Q���<��กG� HRS��ก��M��>�<<�9 �L=�U�H����	��:�" ก������Q��9L�
��9����L�9M�SL��=9�9��
��9���	;J

=HI9���8����=	L�9�X9 \FJ<�;�K��L�9��
 >�� �L��������ก���������<��<�Kก���	;J���<ก�� \FJ<M9HR�����99;X��9��

M�������9M�=�TJ�<��<ก��H���
�� ��
VK�����
>�L<=HI9 3 �L�9 
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3.1 �
=���4X�ก���
���������8��	�09��������$���������8�:� >9�	�<M9ก��>ก� �HRS���
KL 2 >9�	�<�T� 

 1. ก��
&����ก�$0;�����<% ����9�<�L��������<ก����<�Kก���	;J���<ก�� ��9ก�;�V��=��U�

="�������ก ���=�U� 	Q�M��	�<���9�;
����
 >��กQ� �="�J���ก�FX9 ��<	;J>��<M9����<	;J 3.1 

����<	;J 3.1 กQ� �	;J �����="�J��FX9���<��กH���H��< 

ก��
&����ก�$0;�����<% ก��
&��������&���<%��4

��	 �L� HY ��	 �L� HY

กQ� �	;J
="�J��FX9

229,170 81,193

�	�

��)ก��

310,363 ��
 0�� 4O
 

          2. ก��
&��������&���<%��4 =HI9ก��="�J��K��L� (Value added) ��กก��	;J�Q��9L�
��9���M9�KH

��<���8���� กQ� ���9��
 =�TJ�>H��:�" H=HI9 =�� ��9ก�;� �L��<��9ก�;� ��	Q�M������<�K��L���ก=��� ��

��ก
�J<�FX9 >��
�<=HI9ก��="�J������K� ���������8M��ก��"9�ก<�9 "����	�X<
�<=HI9ก��="�J���
 ��M��ก��

"9�ก<�9="�J���ก�FX9�;ก	�<�9FJ< ��<	;J>��<M9����<	;J 3.1 

3.2 �
=������	
����ก���(�����������0<�4�7��
+�P�
 ��
 ���;9Q�=�9�>9�	�<M9ก��>ก� �HRS���
KL 

3 >9�	�<�T� 

 1. ก����������%���% =�TJ��;ก��H������<����<�<��ก�M��L =��T�=";
< 5 �9 ��
ก�����=�T�ก=b"��

�9	;J�;�����
�9 ก���T��T���9 >����X<M�M9ก��	Q�<�9=�� �� =�TJ����=�T�ก>�L�9	;J�;���:�"กU�����<�;ก�� 

="�J��L����>	9="TJ�=HI9��<���M��ก��������X<M�	Q�<�99�X9��
�L�
�L�>�<="�J��FX9��ก 150 ��	�L���9 =HI9 

180 ��	�L���9 ��<>��<M9����<	;J 3.2 

0����
$� 3.2 �L�M���L�
���9>�<<�9 =H�;
�=	;
� กL�9 - ���< 

%&��	� (��) ���%��� (��
/	��) ���%��� 
(��
/

��
 / 4O

12 ( 4 =�T�9 ) 150 216,000

ก��� 4 ( 6 =�T�9 ) 150 108,000 414,000

10 ( 2 =�T�9 ) 150 90,000

���� 5  (12 =�T�9 ) 180 27,000 324,000

90,000H���
���L�>�< �� �L�HY =	L�ก��
 

0����
$� 3.3 ��
 ����<�9<�9 =H�;
�=	;
� กL�9 - ���< 
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���%��� (��
/	��) ��)W��
���� ���%��� 
(��
/

��
 / 4O

ก��� 150 - 4,500 54,000

180 5,400

- �L�>�<	Q�=����9ก�;��9�� 4w ,6w 15 ��	 / ��9 450

���� - �L�>�<	Q��L��<��9ก�;� 10 ��	 / ��9 300 73,800

19,800��
 ����<�9<�9="�J��FX9 �L�HY =	L�ก��
 

 2. ก��0��0�:�����8��� 3 0�� ="TJ��L�
	�L9>�< >����ก��M��>�<<�9�9 	Q�M��"9�ก<�9 �L���<

	Q�<�9�9�ก��ก �L�
��HRS��=�TJ�<ก�����=�U���<"9�ก<�9 ��<>��<M9����<	;J 3.4 

             0����
$� 3.4 ก�������X<=��9 �9�� 3 ��9 

��)ก�� %&��	����� (��
)

�����L������X< 150,000

H���
����9	�9���9>�<<�9 �L�HY 90,000

��
�=����T9	�9 1 4O 8 ��=��
 

 3. ก���(��	��	���;��0�������&���<%��4  �L�L���=HI9=��HK9 >���L��<��9ก�;� ��=HI9ก������<

>�<�K<M���<"9�ก<�9 ="����;��
 ��="�J��FX9 �;�����K�=�TJ�<ก��	Q���9ก�;��Q�=�U��KH��ก�FX9 �����8����<<�9 

����<��
 ��="�J��FX9M9�9��� 

4. ���0�!�ก�� 

����� ��9	��!�;.  2539.  \ก����0��
�����N����&������,�����;��0���ก�$0;�����<%.]   
 ��	
�9�"9��H��SS���������� :��������!�ก���ก�����ก��������ก��� 
 �8���9=	��9��
;"�����=ก���"��9��=�9T�. 
H�����;
 �9ก�S�9 >��ก�S�9� ก�S�9��9	�.  2551.  \ก��ก&����ก�)�
+* �
=���
��� 
 4�7��
+�P�
ก��%��������ก�$0;�����<%.]   ��	
�9�"9��H��SS����������  
 :��������!�ก���������ก�� ��������	
���
 �����	
���
��ก����� 	
. 
��W����� ��S!�;.  2552.  \ก��	�����7�*�	������	��8����ก���0����#P�
;��0P�#Q*��7 
 ���ก��8�������
 ���ก�$0;�����<% %&�ก��.]  ��	
�9�"9��H��SS����������  
 :���������������ก����������� ��������	
���
 �����	
���
��ก����� 	
. 
��W��x� 89��"�<=��;.  2546. yก��	�����7�*ก�7�	�ก��%��ก��(�:���	����ก�$0 
 �&���<%��4�&��������ก�������
$��)������).] ��	
�9�"9��H��SS���������� :������ 
 ��!�ก���!����� ��z��<ก��������	
���
. 


